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Ql/Calculate the current and voltage for each resistor?? ( 25 Mark)

Subject: Electricsl circuits

Class: First - Morning
Time: Three Hours
Date: ll,w t2018
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Q2/ Find the current through the R3 resistor using mesh analysis ?? ( 25 Mark)

I 11

I

x,

lo
.q

8(t E

Q3/ Fintl the current through the R3 resistor using nodal analysis ?? ( 25 Mark)

&

'A
,l {l

Note: Answer Four Questions OnlY

I
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Q4/ using Millman's theorem, find the current through and voltage across the resistor RL??

( 25 Mark)

1L
J

ftt 5O i$ 4O rt3 ro

r E. r 3 fl l/i

10 \. l6 \- 8V

Q5/Find the Norton equivalent circuit for the network below external to the resistor R ?? ( 25 Mark)

10 tt

6ll
t0r

BEST OF LUCK

H ment

Karrar salim abass Karrar salim abass

.t

r

H

m

@

{tN\

-*

l5lt

Ministry of Higher Education &
Scientific Research
Southern Technical University
Technical Institute / Qurna
Dep. of Electrical Techniques

ft1

1



Ministry of Higher Education &
Scientific Research
Southern Technical UniversitY
Technical Institute / Qurna
Dep. of Electrical Techniques

Subject: power electronics
Class: Second - Morning
Time: Three Hours
Date: I 5 12018

Final Exam 201712018- Model no. ( 2 )- ( 2! Attempt

Note: Answer Five Ouestion onlv

Ql/ 3-Phase Bridge rectifier with A - I transformer and (250w,10O) resistive load. Plot circuit

diagram, then Find the value of the secondary line voltage. (20 Mark)

Q2l For the following circuit Find

l- The value of Rl
2- The value of Vin

2kA

O18dr:lOO Vcc
20v

(20 Mark)

Q3/ n utr (UNJUNCTTONAL TRANSISTOR) has the following data: Vas=30v, RI=1O0KO,Vo= 0.6v, 4 - 9.65.

1- What is the value of Clthat gives lKHz output frequency.

2- Catculate the maximum value of the capacitor voltage. (20 Mark)

Q4/ For OP-AMP Sig nal Generation, fill the blank in the following in the table. (20 Mark)

No. Resista nces V,, Rr c K V" Frequency (F)

1, Ro= Ro +18 1oKO 0.1prF K1 V= F7

2 Ro = ZRo +18 1OKO 0.1pF K2
t, _vh2 - Fz=

3 Ro = 3Ro +18 1OKO o,1pF Kz= vb3 - Fa=

10ka
R1

5V

Q5/ A- what are the different methods to tum off the thyristor.

B- what are the advantage of an SCR over mechanical switch.

(10 Mark)
(r0 Mark)

Q6/3-Phase half controlled rectifier is used to controlled [3240w] power of 10Q dc load, for

400v line to line voltage. I - Plot circuit diagram 2- Find the value of firing angle [c]
(20 Mark)

BEST OF LUCK
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